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No. of Questions — 31 S—08—Social Science 

No. of Printed Pages — 11 
 

◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2014 
SECONDARY EXAMINATION, 2014 

‚Ê◊ÊÁ¡∑§ ÁflôÊÊŸ 
SOCIAL SCIENCE  

‚◊ÿ — 3 14   ÉÊá≈U 
¬ÍáÊÊZ∑§ — 80 

 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –  

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –   

  All the questions are compulsory.  

 3. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 

  Write the answer to each question in the given answer-book 

only. 

 4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –  

  For questions having more than one part the answers to those 

parts are to be written together in continuity.  
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 5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬Ê¢Ã⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •¢Ã⁄U / Áfl⁄UÊœÊ÷Ê‚ 
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê „UË ‚„UË ◊ÊŸ¥ –  

  If there is any error / difference / contradiction in Hindi and 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 6. ¬̋‡Ÿ ‚¢ÅÿÊ  •¢∑§ ¬̋àÿ∑§ ¬̋‡Ÿ ©UûÊ⁄U ∑§Ë ‡ÊéŒ ‚Ë◊Ê  

  1 – 6 1 20 ‡ÊéŒ 

  7 – 13 2 40 ‡ÊéŒ 

  14 – 23 3 100 ‡ÊéŒ 

  24 – 30 4 150 ‡ÊéŒ 

  Q. Nos. Marks per question Word limit of answer 

  1 – 6 1 20 words 

  7 – 13 2 40 words 

  14 – 23 3 100 words 

  24 – 30 4 150 words 

 7. ¬˝‡Ÿ ‚¢ÅÿÊ 31 ◊ÊŸÁøòÊ ∑§Êÿ¸ ‚ ‚¢’¢ÁœÃ „ÒU •ÊÒ⁄U 5 •¢∑§ ∑§Ê „ÒU –  

  Question No. 31 is related to map-work carrying 5 marks. 

 8. ¬˝‡Ÿ ‚¢ÅÿÊ 15 ‚ 17 ◊¥ ‚ Á∑§ã„UË¥ ŒÊ ∑§Ê ©UûÊ⁄U ∑§⁄UŸÊ „ÒU – ¬˝‡Ÿ ‚¢ÅÿÊ 24 ‚ 27 

•ÊÒ⁄U 29 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  

  Two questions are to be answered from Q. Nos. 15 to 17. There 

are internal choices in Q. Nos. 24 to 27 and 29. 

1.  “Sfl⁄UÊ¡ ¬Ê≈UË¸” ∑§ ÁŸ◊Ê¸ÃÊ ∑§ÊÒŸ Õ ?  

 Who was the founder of the ‘Swaraj Party’ ? 1
2  + 12  = 1 
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2. ÷Ê⁄UÃ ∑§ Á∑§ã„UË¥ ŒÊ ˇÊòÊËÿ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ∑§ ŸÊ◊ Á‹Áπ∞ –  

 Write the names of any two regional political parties of India. 

   1
2  + 12  = 1 

3. ‚∑§‹ ÉÊ⁄U‹Í ©Uà¬ÊŒ Á∑§‚ ∑§„UÃ „Ò¥ ?  

 What is gross domestic product ? 1 

4. flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë ŒÊ ∑§Á∆UŸÊßÿÊ° Á‹Áπ∞ –  

 Write any two difficulties of barter system. 1
2  + 12  = 1 

5. √ÿÊ¬Ê⁄U •fl⁄UÊœ∑§ ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ?  

 What is meant by trade barrier ? 1 

6. ÷Ê⁄UÃ ◊¥ ©U¬÷ÊQ§Ê ÁŒfl‚ ∑§’ ◊ŸÊÿÊ ¡ÊÃÊ „ÒU ?  

 When is consumer day observed in India ? 1 

7. ÁŸêŸÁ‹ÁπÃ ∑§Ê ‚È◊Á‹Ã ∑§ËÁ¡∞ —  

 ◊„UÊŸª⁄U   „UflÊß̧ ¬ûÊŸ  

i) ÁŒÀ‹Ë  •) ŸÃÊ¡Ë ‚È÷Ê·øãº˝ ’Ê‚  

ii) ◊Èê’ß¸  ’) ◊ËŸÊ◊’∑§◊  

iii) ∑§Ê‹∑§ÊÃÊ  ‚) ßÁãŒ⁄UÊ ªÊ¢œË •¢Ã⁄U⁄UÊc≈˛UËÿ  

iv) øÛÊß¸  Œ) ¿UòÊ¬ÁÃ Á‡ÊflÊ¡Ë –  
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 Match the following :  4 

! 

" 12  = 2 

 Metropolitan City Airport 

i) Delhi a) Netaji Subhash Chandra Bose 

ii) Mumbai b) Meenam Bakkam  

iii) Kolkata c) Indira Gandhi International  

iv) Chennai d) Chhatrapati Shivaji 

8. ◊ÊŸfl mÊ⁄UÊ ‚¢‚ÊœŸÊ¥ ∑§ •¢œÊœÈ¢œ ©U¬ÿÊª ‚ ©Uà¬ÛÊ ŒÊ ‚◊SÿÊ•Ê¥ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –   

 Explain two problems caused due to the indiscriminate use of 

resources by humans. 1 + 1 = 2 

9. ¬˝Ê⁄¢UÁ÷∑§ ¡ËÁfl∑§Ê ÁŸflÊ¸„U ∑Î§Á· ÃÕÊ flÊÁáÊÁÖÿ∑§ ∑Î§Á· ∑§Ë ÃÈ‹ŸÊ ∑§ËÁ¡∞ –   

 Compare the primitive subsistence farming and commercial farming. 2 

10. ◊ÎŒÊ ‚¢⁄UˇÊáÊ ∑§ ŒÊ ©U¬Êÿ ‚È¤ÊÊß∞ –  

 Suggest two measures to conserve soil. 1 + 1 = 2 

11. •÷˝∑§ ÁfllÈÃ fl ß‹Ä≈˛UÊÚÁŸ∑§ ©UlÊªÊ¥ ◊¥ ¬ÿ̋ÈQ§ „UÊŸ flÊ‹ •¬Á⁄U„UÊÿ¸ πÁŸ¡Ê¥ ◊¥ ‚ ∞∑§ ÄÿÊ¥ „ÒU ?  

 Why is mica one of the most indispensable minerals used in electric 

and electronic industries ? 2 
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12. ÷Ê⁄UÃ ◊¥ ¡Òfl ÁflÁflœÃÊ ∑§Ê ∑§◊ ∑§⁄UŸ flÊ‹ øÊ⁄U ∑§Ê⁄U∑§Ê¥ ∑§Ê Á‹Áπ∞ –  

 Write four factors that have led to decline in biodiversity in India. 

   4 

! 

" 12  = 2 

13. ÷Ê⁄UÃ ◊¥ ‚ÍÃË flSòÊ ©UlÊª ∑§Ë ©UÛÊÁÃ ∑§ Á‹ÿ ŒÊ ‚È¤ÊÊfl ŒËÁ¡∞ –   

 Give two suggestions for progress of cotton textile industry in India.  

   1 + 1 = 2 

14. “Áπ‹Ê»§Ã •Ê¢ŒÊ‹Ÿ” ∑§Ê •Õ¸ S¬c≈U ∑§ËÁ¡∞ – ß‚◊¥ ªÊ¢œË¡Ë ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê ◊ÍÀÿÊ¢∑§Ÿ  

∑§ËÁ¡∞ – 

 Explain the meaning of the 'Khilafat movement'. Examine the role of 

Gandhiji in it. 1 + 2 = 3 

 ¬˝‡Ÿ ‚¢ÅÿÊ 15 ‚ 17 ◊¥ ‚ Á∑§ã„UË¥ ŒÊ ¬̋‡ŸÊ¥ ∑§ ©UûÊ⁄U ŒËÁ¡∞ — 

 Attempt any two questions from Q. Nos. 15 to 17 : 

15. Áª⁄UÁ◊Á≈UÿÊ üÊÁ◊∑§Ê¥ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬áÊË Á‹Áπ∞ –  

 Write a short note on the indentured labour. 3 

16. ŒÈªÊ¸ø⁄UáÊ ⁄UÊÿ ∑§ ©U¬ãÿÊ‚ ( œ⁄UÃË ¬⁄U ŒflÃÊ ©UÃ⁄U ) ¬⁄U ¬˝∑§Ê‡Ê «UÊÁ‹∞ –  

 Throw light on Durgacharan Rai’s novel ( The Gods Visit Earth ). 3 
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17. ¬˝Õ◊ Áfl‡fl ÿÈh ∑§ ¬Á⁄UáÊÊ◊Ê¥ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –   

 Discuss the results of the first World War. 3 

18. ‚¢ÉÊËÿ ‡ÊÊ‚Ÿ ªÁ∆UÃ ∑§⁄UŸ ∑§ ŒÊ ÁflÁ÷ÛÊ Ã⁄UË∑§Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Describe two different kinds of routes through which federation has 

been formed. 1 
1
2  + 1 

1
2  = 3 

19. ÷Ê⁄UÃËÿ øÈŸÊfl √ÿflSÕÊ ◊¥ ‚ÈœÊ⁄U ∑§ Á‹∞ ‚È¤ÊÊfl ŒËÁ¡∞ –  

 Give suggestions for improvement in Indian electoral system. 

   1 + 1 + 1 = 3 

20. Á¿U¬Ë ’⁄UÊ¡ªÊ⁄UË ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? ß‚ ∑§◊ ∑§⁄UŸ ∑§ Á‹∞ ∑§Êß¸ ŒÊ ‚È¤ÊÊfl ŒËÁ¡∞ –  

 What is meant by disguised unemployment ? Give any two suggestions 

to reduce it. 1 + 2 = 3 

21. ÷Ê⁄UÃ ∑§ ª˝Ê◊ËáÊ ˇÊòÊÊ¥ ◊¥ ´§áÊ ∑§ •ÊÒ¬øÊÁ⁄U∑§ dÊÃÊ¥ ∑§Ê ’…∏UÊŸ ∑§ Á‹∞ ∑§Êß¸ ÃËŸ ‚È¤ÊÊfl   

ŒËÁ¡∞ – 

 Give any three suggestions to increase formal sources of loan in rural 

areas of India. 1 + 1 + 1 = 3 

22. ÷Ê⁄UÃËÿ •Õ¸√ÿflSÕÊ ¬⁄U flÒ‡flË∑§⁄UáÊ ∑§ Á∑§ã„UË¥ ÃËŸ ¬˝÷ÊflÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Describe any three impacts of globalisation on Indian Economy. 

   1 + 1 + 1 = 3 
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23. ‚ÍøŸÊ ¬ÊŸ ∑§Ê •Áœ∑§Ê⁄U ÄÿÊ „ÒU ? ß‚∑§ ∑§Êß¸ ŒÊ ‹Ê÷ ‚◊¤ÊÊß∞ –   

 What is right to information ? Explain any two advantages of it. 

   1 + 2 = 3 

24. ß≈U‹Ë ∑§ ∞∑§Ë∑§⁄UáÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –   

•ÕflÊ 

 ¡Ê¬ÊŸ ∑§ •ÊœÈÁŸ∑§Ë∑§⁄UáÊ ∑§Ê ‚◊¤ÊÊß∞ –  

 Describe the unification of Italy. 4 

OR 

 Explain the modernisation of Japan. 4 

25. ““◊Èº˝áÊ ‚¢S∑Î§ÁÃ Ÿ 1789 ∑§Ë »˝§Ê¢Á‚‚Ë ∑˝§ÊÁãÃ ∑§Ë ¬Îc∆U÷ÍÁ◊ ÃÒÿÊ⁄U ∑§Ë –”” ß‚ ∑§ÕŸ ∑§ ¬ˇÊ ◊¥ 

∑§Êß¸ ÃËŸ Á’¢ŒÈ Á‹Áπ∞ –  

•ÕflÊ  

 ““©U¬ãÿÊ‚ ∑§Ê ßSÃ◊Ê‹ •ÊÒ¬ÁŸflÁ‡Ê∑§ ¬˝‡ÊÊ‚∑§Ê¥ ∑§ Á‹∞ ’„ÈU◊ÍÀÿ dÊÃ ÕÊ –”” S¬c≈U ∑§ËÁ¡∞ –  

 “The Print Culture laid the foundation for the French Revolution of 

1789.” Write any three points in support of this statement. 4 

OR 

 “The use of novel was a valuable source for the colonial 

administrators.” Explain. 4 
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26. ‹Ê∑§ÃÊ¢ÁòÊ∑§ ⁄UÊ¡ŸËÁÃ ◊¥ ‚Êê¬˝ŒÊÁÿ∑§ÃÊ ∑§ ¬˝÷Êfl ∑§Ê ©U¡Êª⁄U ∑§ËÁ¡∞ –  

•ÕflÊ  

 ‚Ê◊ÊÁ¡∑§ ‚◊ÊŸÃÊ ◊¥ ‡Ê„U⁄UË∑§⁄UáÊ ∑§ ÿÊªŒÊŸ ∑§Ê ©U¡Êª⁄U ∑§ËÁ¡∞ –  

 Highlight the impact of communalism in democratic politics. 

   1 + 1 + 1 + 1 = 4 

OR 

 Highlight the contribution of urbanisation in social equality. 

   1 + 1 + 1 + 1 = 4 

27. ŸÊªÁ⁄U∑§Ê¥ ∑§ ‹Ê∑§ÃÊ¢ÁòÊ∑§ •Áœ∑§Ê⁄UÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

•ÕflÊ  

 ⁄UÊ¡ŸËÁÃ∑§ ‚ÈœÊ⁄UÊ¥ ◊¥ ∑§ÊŸÍŸÊ¥ ∑§Ë ÷ÍÁ◊∑§Ê ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

 Describe the democratic rights of citizens. 1 + 1 + 1 + 1 = 4 

OR 

 Describe the role of laws in political reforms. 4 

28. ‹Ê∑§Ã¢òÊ ◊¥ •ÊÁÕ¸∑§ ‚◊ÊŸÃÊ ∑§Ë •flœÊ⁄UáÊÊ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ –  

 Explain the concept of economic equality in democracy. 

   1 + 1 + 1 + 1 = 4 
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29. •Ê¬∑§Ë ŒÎÁc≈U ◊¥, ŒÊ Œ‡ÊÊ¥ ∑§ ◊äÿ Áfl∑§Ê‚ ∑§Ë ÃÈ‹ŸÊ ∑§ Á‹∞ ∑§ÊÒŸ-‚Ê ◊Ê¬Œá«U üÊc∆U „ÒU ? 

‚◊¤ÊÊß∞ –  

•ÕflÊ  

 •Ê¬∑§Ë ŒÎÁc≈U ◊¥, Áfl∑§Ê‚ ∑§Ê ∑§ÊÒŸ-‚Ê ¬˝∑§Ê⁄U ∞fl¢ SÃ⁄U œÊ⁄UáÊËÿ „ÒU ? ‚◊¤ÊÊß∞ –  

 In your point of view, which is a better measure to compare 

development between two countries ? Explain. 1 + 3 = 4 

OR 

 In your point of view, which type and level of development is 

sustainable ? Explain. 1 + 3 = 4 

30. ÁŸêŸ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬ÁáÊÿÊ° Á‹Áπ∞ —  

 (i) ’ÊÿÊªÒ‚  

 (ii) ¿UÃ fl·Ê¸ ¡‹ ‚¢ª̋„UáÊ –  

 Write short notes on the following : 

 (i) Biogas 

 (ii) Roof top rain water harvesting. 2 + 2 = 4 
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31. (∑§) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ —   

  (i) ‚Í⁄UÃ  

  (ii) ªÊflÊ –  

 (π) ÁŒ∞ ª∞ ÷Ê⁄UÃ ∑§ ⁄UπÊ ◊ÊŸÁøòÊ ◊¥ ÁŸêŸ ∑§Ê •¢Á∑§Ã ∑§ËÁ¡∞ —   

  (i) øÊfl‹ ©Uà¬ÊŒ∑§ ¬˝◊Èπ ˇÊòÊ   

  (ii) ◊Èê’ß¸ „UÊß¸  

  (iii) ÷º˝ÊflÃË ‹Ê„UÊ •ÊÒ⁄U ßS¬ÊÃ ‚¢ÿ¢òÊ –   

 (a) Mark the following in the given outline map of India : 1 + 1 = 2 

  (i) Surat 

  (ii) Goa. 
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 (b) Mark the following in the given outline map of India : 

    1 + 1 + 1 = 3 

  (i) Major rice producing area  

  (ii) Mumbai High 

  (iii) Bhadravati iron and steel plant.   
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